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L PCQE ABCPS 3 QZyolB 2 L PCQ = L1+32°
FALEE PO E L CODA = (L2x+32°)+46° = Lx+78°
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Zx+ (£z+78°)=180°

2/x+78° =180°
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(1) (A% 49 HF) = 68+741—72+70 o
(A% po) HAHF) = 71‘5‘751-67—#71 .
(K4 A9 A = (*3)2—‘—321_124_(71)2 .
(M2 Be BA}) — 02+42+El_4)2+02 .

<18 (1) 4709 %% T 270 ol %) #e AR 7F BF
«18: (2) A5 49 7 ¢ 12

(1) 2BCA= £BAQ=55"
BC7F 9 09 XNEeBnZ / CAB=90°
ACABANA 2z=180°"—(55°+90°)=35"

(2) ABPAANAN Ly+ Lx=Ly+35° =55° 0|B&
Ly =20"

[=2]1& 771 9= 3% A B¢t AR

«27: (1), (2) 8 F & £AT AR

5+9+11+a+(5—a)

(H4) = 5 =6
(24) = (*1)2+32+52+(5a*6)2+(*a*1)2:12
12 "ot/ [354+a>—12a+36+d°>+2a+1=60
[e] [e)
= v a>—5a+6=0
(a—2)(a—3)=0
a=2 ¥ a=3
(=28 277l Q= 3L QAT et AA]
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